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D-5613
M.A. (Ist Semester) Examination, 2020

SOCIOLOGY

(Social Change in India)

Time Allowed : Three Hours

Maximum Marks : 70

Minimum Pass Marks : 25

Note : Attempt question of all sections as directed.

veesš : meYeer KeC[eW kesâ ØeMve Gvekesâ efveoxMeevegmeej nue keâjW~

SECTION - A

KeC[ - De

Note : Attempt all ten questions. Each question carries

one mark. 1×10=10

veesš : efkeâvneR ome ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve Skeâ Debkeâ

efveOee&efjle nw~

Q. 1. (i) Herbert Spencer related to which theory :

(a) Linear theory

(b) Cyclic theory

(c) Both

(d) None of these
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njyeš& mhesvmej keâe mecyevOe efkeâme efmeæevle mes nw :

(De) jsKeerÙe efmeæevle

(ye) Ûe›eâerÙe efmeæevle

(me) oesveeW

(o) FveceW mes keâesF& veneR

(ii) Cyclical theory is related to :

(a) Pareto

(b) Marx

(c) Durkheim

(d) Coser

Ûe›eâerÙe efmeæevle keâe mecyevOe nw :

(De) hejsšes mes

(ye) ceekeäme&

(me) ogKeeace

(o) keâespej mes

(iii) The forms of social change  is :

(a) Growth

(b) Progress
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(3) (4)

(c) Evolution

(d) All

meeceeefpekeâ heefjJele&ve keâe mJe™he nw :

(De) Je=efæ

(ye) Øeieefle

(me) GodefJekeâeme

(o) meYeer

(iv) Which one of the following book is the work

of Gandhiji :

(a) Light of India

(b) Hind Swaraj

(c) My Experiment with Truth

(d) (b) & (c)

ieebOeer peer ves efkeâme hegmlekeâ hej keâeÙe& efkeâÙee Lee :

(De) ueeF&š Dee@Heâ FefC[Ùee

(ye) efnvo mJejepÙe

(me) melÙe kesâ meeLe ØeÙeesie

(o) (ye) Je (me)

(v) Sanskritization related to :

(a) People

(b) Culture

(c) Land

(d) All

mebmke=âefle keâe mecyevOe nw :

(De) pevelee

(ye) mebmke=âefle

(me) YetYeeie

(o) meYeer

(vi) Who is writer of ‘Social and Cultural Dynamics’

______.

‘meesMeue Deewj keâuÛejue [eÙeeefvecekeäme efmeæevle’ hegmlekeâ keâe

uesKekeâ ............ nw~

(vii) Max Weber is related to ______ theory.

cewkeäme Jesyej keâe ............ efmeæevle mes mecyevOe nw~

(viii) ______ is one of the following is the first stage

of the evolution of an institution.
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efkeâmeer mebmLee kesâ GodefJekeâeme keâer ØeLece ÛejCe ............

nesleer nw~

(ix) Evolution word discovered by ______.

GodefJekeâeme Meyo keâe meyemes henues GheÙeesie ............ ves

efkeâÙee Lee~

(x) Ogburn and Nimkoff related to ______ social

change.

Deeieye&ve Deewj efvecekeâeHeâ keâe mecyevOe meeceeefpekeâ heefjJele&ve

kesâ ............ Øekeâej mes nw~

(xi) Internal growth of any system is called

______.

efkeâmeer Jemleg kesâ Deevleefjkeâ iegCeeW kesâ keâejCe nesves Jeeuee

heefjJele&ve ............ keânueelee nw~

(xii) Social Darwanism theory is created by

______.

meeceeefpekeâ [eefJe&veJeeo keâe efmeæevle ............ ves efoÙee

Lee~

SECTION - B

KeC[ - ye

Note : Attempt any five questions. 5×2=10

veesš : efkeâvneR heeBÛe ØeMveeW keâe Gòej oerefpeS~

Q. 2. (i) What is Development ?

efJekeâeme keäÙee nw ?

(ii) What is Progress ?

Øeieefle keäÙee nw ?

(iii) What is Secularization ?

Oece& efvejhes#elee keäÙee nw ?

(iv) Write major components of culture.

mebmke=âefle kesâ cegKÙe IeškeâeW keâes efueefKeÙes~

(v) What is culture ?

mebmke=âefle keäÙee nw ?

(vi) What is migration ?

ØeJemeve keäÙee nw ?

(vii) Write types of social change.

meeceeefpekeâ heefjJele&ve kesâ Øekeâej efueefKeÙes~
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SECTION - C

KeC[ - me

Note : Attempt any five questions. 5×4=20

veesš : efkeâvneR heeBÛe ØeMveeW keâe Gòej oerefpeS~

Q. 3. (i) What is religion ?

Oece& keäÙee nw ?

(ii) Write characteristics of culture.

mebmke=âefle keâer ØecegKe efJeMes<eleeDeeW keâes efueefKeÙes~

(iii) Explain stages of cyclic theory.

Ûe›eâerÙe efmeæevle kesâ ØecegKe ÛejCeeW keâes efueefKeÙes~

(iv) Write major types of media.

ceeref[Ùee kesâ ØekeâejeW hej ØekeâeMe [eefueÙes~

(v) Write basic features of Gandhism.

ieebOeerJeeo kesâ ØecegKe efJeMes<eleeDeeW keâe JeCe&ve keâerefpeÙes~

(vi) What is sanskritization ?

mebmke=âeflekeâjCe keäÙee nw ?

(vii) Write types of progress.

Øeieefle kesâ efJeefYevve ØekeâejeW keâer ÛeÛee& keâerefpeÙes~

SECTION - D

KeC[ - o

Note : Attempt any three questions. 3×10=30

veesš : efkeâvneR leerve ØeMveeW keâe Gòej oerefpeS~

Q. 4. (i) Write impact of Industrialization in Indian urban

area.

Yeejle kesâ Menjer #es$eeW ceW DeewÅeesefiekeâerkeâjCe kesâ ØeYeeJeeW keâer

efJeJesÛevee keâerefpeÙes~

(ii) Write role of media on social change.

meeceeefpekeâ heefjJele&ve ceW ceeref[Ùee keâer Yetefcekeâe keâer ÛeÛee&

keâerefpeÙes~

(iii) Write different facts of linear theory.

jsKeerÙe efmeæevle kesâ ØecegKe efmeæevleeW keâer efJeJesÛevee keâerefpeÙes~

(iv) Explain major factors of social change.

meeceeefpekeâ heefjJele&ve kesâ ØecegKe keâejkeâeW keâer efJeJesÛevee keâerefpeÙes~
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